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Whoever betroths - WP 11397 RAVIN WIPRT 90
intends that the betrothal be with the consent of the Rabbis

OVERVIEW

The X713 explains that the reason the a°m31 have the power to nullify the
7112 and validate the v3, thereby allowing the woman to remarry, is because
originally the 717°P were based on the consent of the 2°on. In this case
since he did not listen to the a°non and was Svan the 72 192 v3, the 2°1on
invalidated the original 7?17°p, thereby making her a 7m15. mooin will
explain where do we see that his 217p is contingent on the consent of the
Q°A21.

= INIYN NYN NTI PYITP NYWI 9N 790
And therefore the groom says at the time of betrothal when he is being

wpn the 1175, ‘in the lawful manner prescribed by mw» and the Jewish
people’.! This indicates his willingness to accept the guidelines set out by the o"an.

SUMMARY
The 0 expresses his agreement that this 7"17°p 1s contingent on the consent
of the o°»2o1, when he states by the w17°p that it will be PXw> nwn n7o.

THINKING IT OVER
What will the 17 be if the person who was %van the 7"2 192 03, omitted
originally by his 1w17°p the phrase %W 7wn n7?

! See mwn n5m who explains that mwn refers to the Xn>>7IX7 °1°7 and X" refers to the 0°non NP,
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